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Question Paper Code : 71684

B.E./B.Tech. DEGREE EXAMINATION, APRIL/MAY 2015.
Second Semester
Civil Engineering

HS 2161/HS 21/080020003 — TECHNICAI; ENGLISH - II

(Common to all Branches)

(Regulation 2008)

Time : Three hours : Maximum : 100 marks
Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1.  Match the words in column ‘A’ with their meanings in column ‘B’: (4x £=2)

A B
(a) jeopardy — very expensive, unaffordable
(i)) levitate — areciprocal action or effect
(¢) prohibitive — danger
(d) repercussion ~— rise or float in the air with no physical support.- .

2.  Fill in the blanks with suitable prepositions : 4x1=2)
Auctions are public sales (@) goods, conducted by an officially
approved auctioneer. He asks the crowd assembled (b) the
auction room to make offers, or ‘bids’ © the various items on

sale. He encourages buyers to bid higher figures, and finally names the highest

bidder as the buyer @ the goods.
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Fill in the blanks with suitable articles (a, an, the) or ¥ if no article is needed :

4x1=2)
(a) You should evaluate —— equipment and make sure fitness
machines are modern and in working condition.
(b) Pandas and ———  tigers are both endangered animals.
(¢ Christmas comes once ———————— year.
(d) Hawaiiis

island in the Pacific Ocean.
PART B — (5 x 16 = 80 marks)

Read the'passage and answer the questions that follow it :

Every motorist dreams of a car of the future that does not have to be refuelled
every few hundred miles, a car that will cost little to run because there is no
outlay on petrol.

‘Of course’, you hear it said by an optimistic motorist, ‘the answer is the atom.
Harness atomic power ina car, and you'll have no more worries about petrol.

_The thing will run for years without a refill’.

And, theoretically, he is right. The answer is the atom. If atomic power could
be used in a car, one small piece of uranium would keep the engine running for
twenty or more years. Of course, this would cut the cost of running a car by
quite a few hundred pounds, depending upon how much you spend on petrol.

But is this science-fiction-like picture of the atom exploding peacefully beneath
the bonnet of a car possible? In theory it is, since already the atom has been
harnessed to drive submarines, and an atomic engine is already in existence.
But, say the experts, there are many problems still to be conquered before such
an engine can in fact be fixed into a car.

Now what exactly are these problems that stand between you and a car that

‘you will never have to refuel? Frankly, most of them can be summed up in one

word- radiation. An atomic reactor, the kind of engine that would produce
energy by atom-splitting, throws off radiation, extremely dangerous radiation.
These rays are just as dangerous as when they are released from an atomic
bomb. This radiation penetrates anything except the thickest concrete and
lead, with fatal results for anybody in its path. Thus, at the moment, any car
carrying an atomic engine would also have to carry many tons of lead in order
to prevent the radiation from escaping. :

4 : 71684






















